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[DAM212] The execution time of a query depends on the following resources needed to 
perform the needed operations except?
Disk space

[DAM212] Hashing the_____________ of an index entry assumes an even distribution 
of values for the element which is not true for predicates.
first element

[DAM212] The following options provide the foundation on which a query language is 
built,EXCEPT?
delete

[DAM212] _______________ are all common indexing techniques EXCEPT?
Stack list

[DAM212] ____________ completed transactions cannot be aborted later or their 
results discarded. They must persist through (for instance) restarts of the DBMS after 
crashes.
Durability

[DAM212] The hierarchical structure is inefficient for certain database operations when 
a _____________ as opposed to upward link and sort field is included for each record.
full path

[DAM212] __________ technique is not involved in processing nearest neighbour 
queries.
Elevation

[DAM212] Query to determine the nearest neighbor to a given target record in 
conjunction with an effective _____________
Distance functions

[DAM212] The actual updating and retrieval of data is performed through various 
___________operations.
low-level

[DAM212] ______________ ensures that the transaction must be completed, or else it 
must be undone (rolled back).
Atomicity
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